S “a T

Find. the etgen uvalues and eI Veck

A= /7 o |
i 3 |)
I 5 TR

And
Gniven H___("l Q ‘)
¢ 0
| a2
rTE_u, olan E-%=1H"h11:5;3®
[A<)rL) = 192 2 ¥ a0
T 1 1\—?‘ O 1 g)
I 5 T | Qa oo |
= i"_'l ':Ll) X o O
= =
vaal 38
lA-AT1 - (ax o
| Qo)
Y s T
= (2-2) _C3~ﬂ(ﬂ~h)~1]

- (:Q*}')[G—'E?*-‘lh#h'l_ﬂ]
“2[2-A-{] 4 [9-24X]

: C*D.-A) (,\“_Emt{)a 2(1-2) 4 (- 1+4)




AR OR SRR AR AT wA-BEaN e

| S L R o |

Y R0 AN Ge

i I % [ 5 Wi ‘-.
% | i s %
i L2 o % \ 9
| - .
|
| i 1'. ."'
=
& e .
. \0 VT AN
L =,
| e E'-M}m‘uflhmn. ome A=t
2 PRI | - A_h ™ L I
( I“} 3 ( \ 2-3 N ) -3 )
k | g |
LT TR WL N e Aukbl 'Lnﬂ_ﬂ-.r!, @
Nurmbe.s g‘_\

=

- L | L ) i
) L] "')’._} l\
. i 1 -
= (l L T
q R 1):{}
(I - SR |

S AL X, =0 (@)

S SR ULy 4 Xgq:Q _3@

= Xy "1"1'-.-;+qu':|“':'@
bitng 4 awp @ Q@ by JL-S.L?W] Cnoegs
”Mltfpl-*jing methad

Fnw ¢ Costant v ty

E AnyScanner



The Rigen vectoms - (0,0,0)
NoOW 4amg A= 5
. A% o J e
(I [-n j |
A 2 a-%
(T30
T TR | =D
U RS
_E’I,-\-'l"l'g_'i"l‘I-g-‘D _J@‘j
1.4.wag+v1=m—3(j
= I;+1fiq-'%-r3=ﬂ—3@
M o
LE-TTJ -Lr.::‘h:g @f’; @ by wuing - Ciness
MulEiPliing e dhad

3nce 4 Costant = Y

2L 1, =% 9
e f f. R

-\.""
F,

-

"_".__'I'J'i Ta . g
49 [ T T Y 1
::E_\. & Xt . L

R L

The eigen vectoms = () < (g,

@ AnyScanner



o ————

Powof
Ctxﬁm Qc{‘-uﬁumlﬂ-}\:[\_ﬁ
A-AT=|0b6 -2 2 1 0 O
w13 ‘\“‘}\O\Q\
I X 5k A O\
A= )\I - |6-) <o «a
a3 A )
Q) ~y =h




-E-EICG-F)['&—#'}"]
'*'1[--1{-1-;"]4'1']

*'1[‘1(:51['3—?1}[&-?5 (a-3A°

ﬂf_a(gdﬂﬁﬂ
C G-n) [x=6R q-1) +'3C'1H-i+“}ﬂ['ﬂ=kf"f=ﬂ
- '-':E—?-){f-'-'nﬂ*r‘ﬂ*“““*r*"‘":-""c'
o Eeh) T AR %}arw_ﬂm?--ﬂm
- E}hg_'j.{;pl.qug_}'a-*{:?tﬂ-ﬂh WAL Iy A-2=0

~ K3 e N2 ek A ¥ g0 O

Ch-2) (o P \0A-

yn - 36 a7
a | O e a0 a7
|——'_'_|—'_"—_--_— S— -
RS |

VO

W6 120
b= ¥

L

rnui%.{p(.a;.hcj rne thod .
Cgince Yy cond Lant & y) /

.,r]_-:LLtfl')
y =2

1

@ AnyScanner



L] - !""'_[_-.1 e ""{-_"In
1 T e W-Y
= __:1! - "'Ti:_ = "-1-3
& o )

The eigen vectoo - (0,050)
(-['? A-8 El-g -7 i}

-2 3-8 =)
L1 -4 "3-8
- -7 =0 A

- -5 -—'I-J
2 o =%

- A, - 153 &N — X q _,j@
QLA - Lao-HAg —-3@

—

NOW ‘tako @ oncl @M]n% G

multiplying method

= ~ol, W A v
-B - =) =1
- Ly _ Tq . qAg
+a410 ~4-2 Aoy
P B
) -

The E,L‘caqn Ul cLooms ._u Cﬂ::*"rﬂp) '

@ AnyScanner



